Stoichiometry 4

h l Consider the following reaction carried out to prepare zinc phosphate in the lab.
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a2 3Z0(NOs)yagp + 2NasPOsuq > ?BI?(eP?\“)Z 0 o + 6 NaNO; ()

A technician adds excess sodium phosphate solution to 5.00L of 0. 10§M zinc nitrate solution.

A) What is the theoretical yield of solid zinc phosphate?
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B) If the process typically has a 97.0 % yield, what mass would the technician expect to obtain when the precipitate is fully
P

purified?
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2. What is the concentration (in mol/L) of a 50.0 mL sample of H,SO, if 37.94 mL of 0.955 M NaOH solution is
required to fully react with it?
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3. What mass of solid silver phosphate can be produced b iXi i i
v : y the mixing of 35.0 mL of a 0.775 M solution of
nitrate with 55.0 mL of a 0.667 M solution of potassium phosphate? solion ofsitver

3 AgN03(aq) + K3PO4(aq) > 3 KNOg(aq) + Ag;;P 04(5)
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4. Consider the cétalytic decomposition of 250.0 ml of 3.00 % by mass hydrogen pe ,0,, solution? (The
density of the solution is 1.00 g/mlL.)

MnO.
2 H,050¢) > 2H;0q) + Oy

A) What mass of the H,0, is in the solution?

B) What volume of oxygen gas (at STP) should be produced by the reaction?
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